a3 waleh B 6, UAWHN  oporck olz:
(7] (7]

16 30

) (o]

@ o=1b0|22 2ol 32 HalT SAl2 #Hex|
ol-:|_-_|_

=T

® a=b0|E2 2AHof| 45 H5tl 12 Mol S4
2 HokX| g=ct.

@ a=00|BE2 2HHO| o E W™ a—a=b—a

2t b—a=00|Ct,

B a=b0|2E AHO| pE L}F=H —=1

a
b

(7]
20
[aH4]
S4jo| 4ES 0|85f0 Yol 208 W

=]

5z+1—2z=2z+6— 20| 20l 1S
(5—2z)+(1—-1)=0Qz—2z)+(6—1)
3z =50|C}.

o A= 3

HO

£74517] 9lsh Y 30z Lt

fjo

X

M 3z=5

et 5= gom.

r=32 USHH 3x3+5=140|22 FOZTl A

[78]

=}

(73]
5®
[ofl &]
1.3 1
5775 2
1_6-5
5 10
1 _ 1
770

1
R



(73]
6 @
[aHd]
1 _3_ 1
505 2
1,65
5 10
1 _ 1
Y70
1
T
(73]
7 ®
[af4]
A8l J|E L2} 5t Eie| JiTt 4740|1
X|220H0| 5900%0/22 Cl2n} Z+S ARt Al

500z + 600 <4 = 5900

500z = 5900 — 2400

500z = 3500

=17

[7&]

6000z X 20 = 480000
120000z = 480000
12z =48

r=4

et 2= g 4A2E L3IGict

(73]
9@
(644
e 233 742 2k etokH o] JHHolM 30%

£ 2ol SIeEZ JHAH9 70%E X235t =1

A 9 A 072 = 840002 BHE = QUCh O|E

0.7x = 84000
Tz = 840000

840000
7

x = 120000

e FUe 120,000 H0]|C}



(73]

S wEAS oks 4 ok

6000z < 20 = 480000
120000z = 480000
122 =48
rx=4
(h2FA Slxy

Yo 4AZE L5t

rir
o

[6%]
11 ®
[ai4]

<0l thet LxtegAolch watM szt 10[24H &

HA z+3=2c+a0 CHet zCHA 12 CHRISIH S

Alo| MRS 1+3=2+40¢ OHEZ ¢=20|C}
[6%]

12 ®

[aH-A]

oy Alo| §fj7F 2ot w2l 2:+1 =52 A

10

| sl z=20|Ct. OBEE2 wr+2=82 HHAlQ|

I o =20Ich WM o =25 wEAl] Cjelste

ol

oln
1z

o MEstCl 2q¢+2=180| 0], o0l CHEH LR}

gEAolct J2E2 o=30[Ct

2:3=(z+1):(2z—1) H[HAAZ

o
N
|0
IO
HU
[\

i3
=

22z—1)=3(z+1)

4r—2=3x+3

r=25

(2z—1)=

[6F]

[6&]



